
kPbwd; guk;gy; II 

vLnfhz;l ,iliaf; nfhz;L ,il fzpj;jy; 
 Ie;J epuy;fisf; nfhz;l ml;ltiz gad;gLj;jg;gLk;.  
 epuy; 1 – tFg;ghapil gpujpaplg;gl Ntz;Lk; 
 epuy; 2 – eLg;ngWkhdk; fhzg;gl;L gpujpaplg;gl Ntz;Lk; (𝒙) 

 epuy; 3 – tpyfy;  {Fwpj;j eLg;ngWkhdk; - vLnfhz;l ,il> 𝒙 – A (d)} 
 epuy; 4 – kPbwd; gpujpaplg;gly; Ntz;Lk;.( f )  
 epuy; 5 – tpyfy; X kPbwd; (d X f) 

Note :   tpyfy; ,il = 
Σ𝑓𝑑

Σ𝑓
  MFk;.  vLnfhz;l ,il =  𝐴  +  

Σ𝑓𝑑

Σ𝑓
 

 
tFg;ghapil eLg;ngWkhdk;(x) tpyfy;(𝑑) kPbwd;(𝒇) (𝑓𝑑) 

8 - 12 10 -15 5 -75 

13 - 17 15 -10 13 -130 

18 - 22 20 -5 22 -110 

23 - 27 25 0 16 0 

28 - 32 30 +5 10 50 

33 - 37 35 +10 7 70 

38 - 42 40 +15 7 105 

 𝚺𝒇 = 𝟖𝟎 𝚺𝒇𝒅 = −𝟗𝟎 

cz;ik ,il = 𝐴  + 
Σ𝑓𝑑

Σ𝑓
 

           = 25 +
−90

80
 

           = 25 + (−1.125) 
           = 23.875 
gapw;rp  

 gpd;tUk; ml;ltizapd; ,ilntspfis epug;gp ,iliaf; fzpf;f. 
tFg;ghapil eLg;ngWkhdk;(x) tpyfy;(𝑑) kPbwd;(𝒇) (𝑓𝑑) 

0 - 10 5 -50   

10 - 20  -40   

20 - 30     

30 - 40     

40 - 50     

50 – 60 55 0   

60 - 70 65 10   

70 - 80     

80 - 90     

90 - 100     

 𝚺𝒇 = ⋯ 𝚺𝒇𝒅…. 

,il = 𝐴  +  
Σ𝑓𝑑

Σ𝑓
 

    =  50  + …………………………….. 

    =   ……………………………  
 fzpjg; ghlE}ypYs;s gapw;rp 26.3 ,id nra;aTk;. 
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